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(2) zFt A = AR W f2 o (6%)

2. BT WA G AR M f2
(1) y"+2y'+5y=3sinx+cosx (10%)
(2) x(x+1)y"+(4x+1Dy' +2y=2x+1- (10%)
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(1) & Fpt e = et f2y, (X) =2 (7%)
(2) M REFHE > S t=Inx o Ply(X) =Y (1) 3 RS Y () & 7 ks
23 o (T%)
(3) & Rdddk (s s 2 ARTW Y, () =7 (6%)

(4) 3 Rf e fo el > AR f2Y (1) =2 (6%)

(5) #H&Y () #H ¥+ y(x) - (4%)

4, - peh >4 §t)+o’y{t)=Fcosyt » HP F L2 ¥#%* y#2o
(1) s Fpt e = 22 4 f2y, () =2 (6%)
(2) # + Wronskian > W (y,,y,)=? (4%)
() s 22 fRy(t)=? (5%)
(4) # %A 4eix i y(0) =02 y(0)=0 - Rl y(t)=? (5%)

(5G) 5 y=0f  Bllimyt)=? (5%)

5. & drfick A2 xy"—(x+1D)y'+y=0
(1) 3@y, =e™ - i fz - (3%)
(2) T - Afz o (T%)
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1. ¢ X ~» x+1&E x—e 2 T RMHs > 23 Bz
y"(x) +a(x) - y'(x) +b(x) - y(x) = f(x)
(1) @#FFa(x) ~ b(x) & f(x) = #? (9%)
(2) @ Fpt s > 22 3 f2 - (6%)

1. (1) v x> x+12 x—e™ 5 fes > f2en3 B 2
AR S| E S y=X» X+1 - X—e*Xx ~x ODE+* ##

O+a+bx="1 ...... 1)
O+a+b(x+)="f ...... (2)
-e*+all+e ) +b(x-e)="f ... 3)

vi# a=f=1

AT STt s S AR Y (X)+Y(X) =1

(2) -t % ¥ ek ODE
4 y=e® & x~ ODE¥ ¥
+1=0 =Ai=00r-1

=Y, =C;+C,e "
(RS 33 WER S

AR Yy (X)=u, +u,e” *» ODE {5+ i#

‘O e”
1 —e™* —e
uy = = e_le :ul:jldx:x
1 e~ —€
0 —-e*
‘1 0
0 1
u, = = 1_X:—eX :>u2=—J'eX dx = —e”
1 e —-e
0 —e™*

y,(X)=u, +u,e” =x-1

Ziz y=y,(X)+y,(X)=c;+Cc,e7 +Xx-1=¢C, +C,e7" +X
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2. RRT M A S B2 i fF
(1) y"+2y'+5y=3sinx+cosx (10%)
(2) x(x+1D)y"+(@x+Dy" +2y=2x+1- (10%)

(1) 4tz
M5 ¥ %3 ODE
. 4 y=e” &~ ODE ¥ #
(F +21+5)e** =0
= 1 +21+5=0
24422 -415

2

=1 =-1+2i

Y, =€ *(c,cos2X + C, Sin 2x)

d F L kdE K4 fE 0 £y, = Acosx+Bsinx #* » ODE + i#

—(Acosx + Bsinx) + 2(—Asin x + Bcos x) +5(Acos x + Bsin x) = 3sin X + cos X
= (4A+2B)cosx+ (—2A+ 4B)sin x = 3sin X 4+ COS X

4A+2B=1

-2A+4B=3
= A:—i, B=l
10 10

1 .
= ——COSX+—sinX
Ve 10 10

y=Y,+Yy,=€"(c,cos2x+c,sin 2x)—icosx+lsinx

(2) x(X+Dy"+(4x+1Dy" +2y=2x+1
£ oa, =x(x+1), a =4x+1, a, =2
d H|Er8: a)—aj+a, =2-4+2=0 7 &t L1 &0

n 1 d 1
X(X+1)y"+ (4x+1)y +2y=&[b1(><)y +b, (X)y]

= b, (X)y" +[b{(x) + by ()] +bg (X)y = X(x +1)y" + (4x+1)y' + 2y
b, =x(x+1), b, =—-b +(4x+1) =-2x-1+4x+1=2x

X(X+1Dy"+ (4x+1)y' + 2y :di[x(x+1)y’+2xy] =2Xx+1
X
= X(X+1)y' +2xy =x* +X+¢C,

S22 1
= y+——y=cC

Y1 1m+l Jl'L:i}" F%b%%\'riODE

2
——dx
o umel e 2 el - (1)
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oA s F1F 0 (x+D2y' +2(x+1)y = clx—+1+(x+1)2
X
= D2y = ¢, X (x )2
dx X
= (x+1)*y=c,(x+In x)+%(x+l)3 +C,

=>y= [cl(x+lnx)+cz]+%(x+1)

(x+1)*

3. & dr— A Azt Xy -3xPy" 4+ Txy —8y = X2
(1) 3t e = Azt 2y, () =2 (7%)
(2) m R £ t=Inx> RIYO) =Y () » & R3S LY (1) & 7 s
23t o (T%)
(3) & Fodlh ik 1 M A = AR RY, (1) =2 (6%)

(4) 3% FHEH 15 oA = R fRY, (1) =2 (6%)

(5) FHRYM)E R y(X) o (4%)

(1) # 2 AP pes 3l o sr s y=x" & » ODE ¥ #
m(m-)(m-2)x" =3m(m-1)x" + 7mx™ —8x" =0

=m®-3m°+2m-3m’ +3m+7m-8=0

=m’-6m®+12m-8=0

= (m-2)°*=0

=m=2,22 (= £)

2 2 2 2
Y, =C X" +C,X" - Inx+¢,x° - (InXx)

(2) £t=Inx =>x=¢'
L y() =yE)=Y(t)
dy(x) _dY(t) _dt dv() 1

YO == " T T d W
y"(x) = dy &_ i(1Y () = ——Y (t)+ L deX(t) = —iv '(t) + Y”(t)
y,,,( ) _ dyo(X) —EY (t)— Y"(t) + X13 Ym(t)

#-y'(x) ~ y”(x)_ki’ y"(x) * v ODE + #
[ 2 Y (t)——Y"(t)+ Y”’(t)} {—%Y’(t)+%Y”(t)}
x° X X
+7x-;Y’(t)—8Y (t) =e*

= Y"(t) - 6Y "(t) +12Y '(t) — 8Y (t) = *
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(3) v i F f«chDE
£ y=e* ~ ODE ¥
(2*-61° +121-8)e™ =0
= A -64*+121-8=0
=1=222 (= £)

. _ 2t 2t 2t 42
. Y, =cCe” +c,e” -t+ce” -t

(4) d ffLi‘*%:/z v LY, = Ae” 1P
= A(2-e” -t +3-e* -t%)
Y” A(4-e* 13 +12-e* -t +6-e* -1)

Y =A@B-e*- t3+36 e” -t +36-e*-t+6-e%)
*w ODE #

A(8-e* -t +36-e* -t* +36-e* -t +6-e%)
—6-A4-e” - t*+12-e” - t* +6-e* 1)
+12-A(2-e* -t* +3.e*-t%)-8-A-e* -t° =™

= A-6-e% =
= A:1

1
. Yp :g'eZt ‘t3

(B) Y{t)=Y, (t)+Y_ (t)=ce” +c,e” -t+c.e” -t2+£e2t -t°
h p 1 2 3 6

1
= Y(X) = ¢, x> +¢,X* - Inx+c;x% - (Inx)° +E~x2 -(Inx)?

4, - feh iR jt)+o’yt)=Fcosyt » 2P o~y - FLi¥ K yz20
(1) F Rt e > A2 4t f2y, (1) =7 (6%)
(2) # & Wronskian > W (y,,y,)="? (4%)
(3) # Feses > A22 i f2y(t)=? (5%)
(4) F &4 ik i y(0) =02 y(0)=0 - Al y(t)=? (5%)

() % y=wp Rlimy(t) =2 (5%)

(1) ¥(t)+@’y(t) = Fcos(rt)
L oy=e" = (P +0%)e"=0 = i=zoi
Yy, =C, cosat + C, Sin wt
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(2) £ y, =cosmt, y,=sinwt

Yi Y, cos wt sin wt

Y1 Y;

W =

) =
—wSIhwt  @cos wt

(3) it * F il k RH F iz

£y, = Acosyt +Bsinyt
y, =—Aysinyt+Bycosyt

yy =—Ay?cosyt—By’sinyt it w ODE {sv @

— Ay®cosyt—By?sinyt +w® - (Acosyt + Asin yt) = F cos yt

= A(w® —y?)cosyt + B(w® —y?)sinyt = Fcos yt
F
o’ —y°

= A=

, B=0

F
y, =—5—cosyt

y=Y,+Y,=Ccosat+c,sinot + ———cosyt
o -y
F

2 2

o’ -y
y(0)=0 =>c, =0

4 ¢ y(0)=0 =c =-

y =———(cosyt —coswt)
o =y
G) ¥ r=wp
limy(t) = lim—; 2(0037/'[—coswt):Iimﬂsinytzﬂsinaﬁ
yoo oot —y yoo 27/

5. & drpies ARt XY —x(X+1)y' +xy =0
(1) vy, =e™ fdi- 4t jz - (3%)
(2 #RY -2 (T%)

(1) x?y"—x(x+1)y'+xy=0
£ y,=e” » ODE+ 7
[x* = x(x+1D) +x]e”* =0 = X - IX(x+1)+x=0
= (A -A)x*-(A1-1)x=0
= AA-Dx*-(A-Dx=0
Al v i A=1 BE N
e @ -ty =e’

20
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(2 £ 5-#f2 y,=ve" =y, =Vve"+ve'
=y, =V'e" +2v'e” +ve’
&~ ODE: x?y"—x(x+1)y'+xy=0
7 E XA (et +2vet +ve’) —x(x+1)(v'e* +ve*)+vxe* =0
=e*(X*V' + XV —=xv) =0
1-x

Xx-1 1
L z72=V =72'+—7=0 =D =dz="-dXx
X yA

X
1 1-x
= |=dz=|——dx
Ize-15
=Inz=Inx-x+Inc,

=1In

=—X
C, - X

=7=C -X-e"
=>V'=c -x-e”

:>v:cl-J.x-e’de+c2
=v=c,-(-1-x)e " +¢c,
Y, =ve* =¢, - (-1-Xx)+c,e* =c, - (L+x)+C,e”

Vo #fEE (LX), 2 y=C-(1+X)+T, e
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